CXEMA 90

CXEMA 92

1 I3 Is |7

\2 \4 \6 \8 o LOLN
s

CXEMA 10

\1 \3 \5 TN

4

0
OFF

CXEMA 273

l1 13 |5 [13 |21

\elele habee 9,0

OFF

7 Dbt
CXEMA 274

[1 Iz Is |7 lo |n 10N

ARRARN P!
? bbb

CXEMA 51

1 I3

\2_54 1\(1/2

CXEMA 52
e

CXEMA 53

[1\3 1517 19 In °

LRk [

1
0
2

CXEMA 54

1 .13
le ) o
=
CXEMA 55

3 1517

Ulo\G_} 1\0/2
: P

1,3 15,17 19 .n

CXEMA 56
U" \6_)8 \@12

%

CXEMA 69
CXEMA 82

[1 13 1|5
3
2 )4 |6 2
1))
1
2
3

CXEMA 83

1113 15 17

UUUU

2 3

1%4

2 |4 |6 |8

ENCAENEN

CXEMA 84

I 18 15 17 |9

222222

CXEMA 85

11 13 5 (17,09 \In

1 )
2
3

CXEMA 107

[1\I3
, 2
2 )4 :
0

|
|

N -0

ONRWN=O

CXEMA 108

11 13 |5

2 4 )6

222222

CXEMA 1M

13 15 17 19 In

2 )4 |6 )8 |10 )12

VOLTMETER

L3u1

OFF

T

L2L3

L2




